joakim sandgren

points caractZristiques (2013 - 2014)

pour trois musiciens et ordinateur (version avec piano)

partition



this version is dedicated to
ensemble taller sonoro

scoring
1 eb clarinet
1 piano

1 cello

the score is notated in c.

duration = 9 minutes

comments on dynamic notation

all dynamic signs are within quotation marks and
do not indicate the actual volume heard but
rather the intensity of the action.

the crescendos should be played with little
crescendo in the beginning and much crescendo
at the end ("saving” much of the crescendo for
the end).

the diminuendos are to be played with a lot
diminuendo at the beginning (doing most of the
diminuendo at the beginning).

comments on performance techniques

eb clarinet

notes with square heads indicate "blow sound".

the mouthpiece should be used.

if the sound becomes too weak add sh-sound with the tongue.

you can also pinch the reed to add resistance.

only the fingerings in the eb clarinet fingering table should be used.
once in this technique try to the clarinet to resound as much as possible.

piano

the piano is to played on the upper two octave strings with a
wooden beater (standing position) supplied or veryfied by the composer.

the strings are stroked at the end of the piano just before the endings of the strings.
the result is a pitch very close to the string’s pitch.

the beater should rest on the string as long as the duration of

the note. there will be a small noise then the stick is removed (that is good).

in the tremolos you cannot use this technique but let the beater

bounce immediately after each stroke.

when the player changes the hitting position uppwards a string, harmonics rises from the
string resulting in a glissando.

this glissando is rising very rapidly.

on the upper staff, the bottom line represents the end of the string (position 1).

| am using this staff to indicate glissandis from 1 to 3 semitones (a small third).

there are no fixed distance values in centimeters due to the fact that different piano
models are too different. the player has to find out the positions from 1 to 4 himself
depending on the piano in question.

when two different pitches are asked for you can do it by putting the beater
in between the two strings, stroking the two strings at the same time.
due two the frame bar of the piano it is a good idea to have two beaters.

the right piano pedal should be held down throughout the piece by a device.
the piano will always ring a little due to the fact that all the other

strings gets slightly exited by resonnace.

if the piano rings too much the player must controle that with the hand.

cello

square notes are to be played as semi-harmonics where the

finger touches the string very gently without depressing it.

one could add one or two fingers behind the first finger to

ensure that the string is well damped and to avoid all harmonics effects.
the tone quality should be as bodily as possible without having "any" pitch
in the sound.

you must hear the difference between two pitch positions (quarter tones).
the dynamics are produced by bow pressure or by bow speed.

it is recommended to use a lot of resin to get the sound right

(not too smooth and soft).

try to make resounding the bow hair as much as possible.

the whole part is to played entirely on the g-string using a heavy bow.



points caractéristiques (2013 - 2014) joakim sandgren (1965)

0 . . . . . .
J= 72 rit pour trois musiciens et ordinateur (versmn avec plano)
\ h ,_3:2_| A9 A9 e Wike 1
(9 J.£ J. £ J. £ A A A A A 3L 3L
clarinet 3¢ | | | C— -
~ ' . ' . ' . . . . . . . . &
O g e gy L L e U e L e P b L b T w
blow sound  [©] [i] [o] [i] [o] [i] [o] [i] [0] il
fingering ‘o w
sLnov?;:ri]n ?;ble p mf
T 1 T 1 _-
beater 4 =’:
position |lI5 —
5
o)
. N\ [9 )
piano ¥ - - - - - ——% b 73
_p l‘mf"
bow ord ~
position EAsp | —
) [9 ) , hl.; - - .— ._$.
violoncelle [JH®) = - - - - ¥ ——
\—— i ¢
bl d  “p” « g
su?“lssoeumnpre p mf
J=69 J=69rit... J=66accel... J=69 J=69 accel... d=72
— 32— —32— —32— T 3:2 ! T 3:2
—— 3. L —— , | 3. L 1 I 3. L 1 ¢ ——— 3. L—— —— 3L —— ———— 3L ——— —— 3L ——
cl P S5 - —% = - ¢ o  —
~ ~ % f
b1 11 g3 mC g e Sl g T ipg i1 1] - - - 1.3 3|1 ] 377 =2
[o] [i] [o] h[o] h[1] h h' h' o h [i]
s « g [0] [i] [0]
“mf”) mf’
W s = = ] p ﬁ—v—v—\
btr
pos -
pno == = 3 - - 5 - t = e T
(™ n” 1
bow ’_
pos — =
T
e e L e TR
vic ! 5 = - - 3 - S = 2 5 = -

compose 38.19-1 2013-09-30 23.21.56

1



cl

btr
pos

pno

bow
pos

vic

cl

btr
pos

pno

bow
pos

vic

— — I 2.4 1 —
- s 7 G G T =
b]? biqiy 5#7 hi' hi i3 b
o L [o] [l [0]
—_—32 : 3:2 .
= I —_— —_— | = * B ' ' |
- - r— 1= — =  ———— o y—
I — i - gln—'q.
“f” >“W"
’—. = = = fm—
& O
..— .
h" §b|. N b|-‘\4'- Hﬂi--_g' i’-:¢]=
- A ——— & ¢ L ¢ - v =

‘:f" - mp

—— 3. L —— —— 3. L—— —— 3. L—— —— 3. L——

—— 3. L —— —— 3. L——

—— 3L —— —— 3L —— —— 3. L —— —— 3. L—— —— 3 L —— —— 3. L——
| | | |
I I I I
SR EEIE N EN R EE S 'S S RN EOE R E O 0 bilil l,iLiL
[i] [o] [i] [o] [i] [o] [ [0] [ [o] [ [e]

compose 38.19-1 2013-09-30 23.21.56

2




cl

btr
pos

pno

vic

cl

btr
pos

pno

bow
pos

vic

1

a1 J:72 rit... J:66 rit... J:63 rit... J:GO accel...
— 32 —
—— 9.4 — —— 9.4 — —— 9.4 — —— 9.2 — 3 —— 9.4 — — — [ ) > > —— 9.4 — —— 9. — —— 9.2 —/ /l 9.4 9.2 1 3.2 1 g
= 2 = g 2 = 2
i CEREEYEEE SN PR R R R R R R R B
. 5 i [o] [i] [0] [o] [i] [0] [i] [0] [i] [0]
OmpO Ompp©
— 312 — —
A B ¢ |2
l P -
15
_;3 - P % 4 o1l —%  — ;12 I I I %
Omp9 Omyp©
=
y  — o R l 1 | | | %
T [y M S— - s [ I i . P . . .
Omp9 Omyp©
2 3 4
. J=66 J=66r1it.. J=60 d=60accel... J=66rit.. =63 J=63accel.. J=69
3:2 . — 32 —— — 32 —
2 y 2 3 ' Il I ' y 2 y 2 g y 2 2 - Il l g y 2 -
-~ o T —_— P/ - >4 - - S P i — o 1 o ol et o P4 - o o
i / / / m / / / /
Omf o Omf© oo A e
r— I I I — \ e — — o —
*15
o 1 I | 2 ] |
3 3 b ! v v IQ 5 vvvmpld ! |3 !
Omyf*© Omf O Of 9
—32 —
! - = M1k :
y 3 S o — 1 | y 3 \'q y 3 12 y 3 g e y 3 H 1 | 5 |
e\ 2 PN ] & 2 M PN PN AN PN PN 9 PN 2 M M
om0 Omf' O Off SO 20f 0 ofo— ompo

compose 38.19-1 2013-09-30 23.21.56

3



66 rit...

)=

69 rit...

d=

o<

qm

b

[o]

[i]

b

(il

=

[0]

:

=

[i]

=

[ ]

:

[0]

:

i__ét

(il

b

[0]

=
[i]

=
[o]

o O
[i]

2

i
o

-
(]

P
[o]

")

(u

J.=106.7

6

63 accel...

d=

66 rit...

=

d=66

60 accel...

5
d=

3:2

|—3:2—| |—3:2—|

— 32—

[y Kl
I ]
1 1)
e
| | M A.I_-
ﬁ |
! I
e |
] * A
G [
/ L e
L W
e . I
m s 3 “
e _. ot
o ”M [ Un
i .
i T
I |
T
i L\ !
q
o R
1 ’
- &
] -
..u/ i B ~
AL “W i ' 2
| , i
o
| A
L3S _
N R
I g
I
RGN 942

compose 38.19-1 2013-09-30 23.21.56



T 4:3 ! T 4:3 ! T 4:3 o 4:3 o 4:3
C| I T — — . |- 1 — — T — — 1 — & & I I \l *
. & 0/4 iI [THP N T ENNT] 0/1 [T} r\l [T | 1y & iI [T} iI [Ti [T} 0/4 T [T} iI [T] 0/1 iI [Ti Vi Vi i Al I- 0/4 PN
(“# )!) “ # ” “p"
|—23—| |—23—| |—23_| |—23 —||—23—|
' Z ; j = — p
btr
pos —
T Y W 2 3 3 Il : y; y 2 3 y 2 n’— y; §
pno Q:m 1 & PN PN L & Py & & &
“« ”. “« ” ” “ .
I - - — - - - - — - - — -
bow
pos _ ———
| T Y
vic | —H‘; . ——m—————
o | | |
4:3 ! T 4:3 ! T 4:3 ! —23— — 43— — 23—
btr
pos
v (v N . o o rY o o
pno il . L — e = = L
T 4:3 !
bow
pos A
vic = = ———] H} F—H — = = =
] L

P p

compose 38.19-1 2013-09-30 23.21.56

5



J. = 106.7 rit...

4:3

i .
L
_. |
s I 2 | |
% . :
i -
Sl h
I : _
[ N '
| P
f .
] | .
I
T !
L 1 _
N
i i L
B . I 5
— i vy .M.l M‘MJ
_ - 1|
I . |
ﬁlﬂ HIn. up '
] :
[ Ll
W |
®
|
il i
93
_H.I
I
| & :
i : | £

4:3

4:3

L vy W
)
<
||
. = o
b - Ee®
t : .)
1 I
B a
o <~
» & |
L ) - Ewd
S0 [or r
e \ i L“_l L“T
| uu/,
e =
2 n
I !
B [ )
S
B L | |
o . l
| |
~m s v va
ol &
| latg~
i i . | .
T
an| Mp
|
ILD_I up «a ﬂ
& .
ol ¢
Lol [ 4
F [ L
! AN
¥ 9
.lA L F ) 9|
) [ ) .H
4 ~ Y|
~e HFH M.MJ L ~
[ 9
o) L#
f
1 ==
.IA L )
9|
| |
: |
~ Ly
. ﬁ ) _
i _
iy
.ﬁ
. . _

—— "mp

“mf ” “mf ”

”

p ——

”

compose 38.19-1 2013-09-30 23.21.56



cl

btr
pos

pno

bow
pos

vic

cl

btr
pos

pno

bow
pos

vic

J. = 101.3 accel...

- Q y ] ; — - y y ] '.
— PN T — 1 PN | PN PN Ll
.,L . ¢ < .,l —— .,l T — ¢ ¢
g Y o=
mp
T 2:3 o 5:3 1 4:3 T 4:3 T 5:3 ! — 43— —2:3—
3 T - O H sl XN ErrE
Q y 2 | . (7] '. [ V] [ V] y ]
PN IH- / PN / / PN
=] 1 L o
. iw — = — = = — = h= e
[ ) —
J.=106.7 rit...
T 4:3 . —2:3— —2:3— —2:3—
& L . . : ¢ ¢
= - u € e -
= o o g g

compose 38.19-1 2013-09-30 23.21.56

7




cl

btr
pos

pno

bow
pos

vic

cl

btr
pos

pno

bow
pos

vic

90

rit...

—2:3— —2:3— —2:3—
— | - - —
. B — - > e 5
o o 7 o y 3 y 3
/ T T PN PN
rit...
:3 ! 4:3 :
NED L

- z —1 i B i i e U

—2:3—

— 43—

3 |

. . -
4n = =t —
y 2 [ 7] [ 7]
‘A /i [
“ ” [13 ”
—2:34
- — - — I T — - -
L L & L @ L L
[ 7] y 2 & & [ ]
0 o . ) / PN D Ji Ji Y o
ml:.—__m.l_'z_ﬂil #
T“I T

”»

8

compose 38.19-1 2013-09-30 23.21.56




¥

101 rit... J.=101.3
Cl Ll L L L] L]
—2:3—— —2:3— —2:3— —2:3— —2:3— — 2:3— — 23—
— 1 [ [ [ = _- [ — —
btr
pos ® P P o P P P o P
_ hl = = - B __hl = - N 4 = = — hl — = fn— =— =
i i [y )
pno i 2 2 5
T 4:3 !
bow
pos — — — — — — — — — — — — — — —
[ )
vlc s s s 5 s s . . . : : : - :
CE— Ca— —— N iw
T | L
106 J.=101.3rit...
(9] . 0 ] (7] (7] 0
7 J 7 J 2) o/ o/ ] 9 6
cl < P Vl- i |- i i S S
= I
/ﬂw —————
T 4:3  —2:3— — 2:3— T 4:3 . —2:3— —2:3—— —2:3— T 4:3 !
— — _- — — - — 1 [ — —
ver Al 2 2%
pos 1
15 . . . . . o . . . h.
A i — = = hl _— — — | < = = _— hl = - — [
© i O
pno 2 °; :
(@)
- — | - — | - — | - | - — - - — 1 I -
bow ord
pos mSp — — — — — — — — — — — — — — —
l a): 2 3 ¢ o
vic > 0 0 0 0 0 D D D T Y PN
— = o=
[ &« ” <
compose 38.19-1 2013-09-30 23.21.56

9




cl

btr
pos

pno

bow
pos

vic

cl

btr
pos

pno

bow
pos

vic

J.=96.0 accel...

J. = 106.7 rit...

4:3 ! |—2:3—| |—4:3—|
0 I I = I 0 |-—. f— 0
= 22 T e = e e S s
€ - R -y
mp” < “mf’ mf’ S
T 4:3 . T 4:3 T 4:3 . —2:3— — 43—
I — — —] — — — —] — 1
2 % % 7 2 Z 24
hl—_ 0— _— hl—_ fe— =— =m— h._ u bu. ﬁ-- b.-
[ Y] e [ Y] l. . y 2 [ Y] [ 7]
i i - PN PN i i
“ ”<umf ” umf”< u.f ”
—2:3— —4:3——
= — 1 —] 1 I —] —] 1 — — 1
-
\,//‘
. ) - Y r 2 e e T R
QI. Ql-— — - - LJII— glIEI— }I:
mp"<"mf’ mf’ ———"f S ="mf
i1 rit... J.=101.3 rit...
4:3
1 4°3 |—2:3—|
p— — i r y J y 2 3
| | | | [ %] PN | - | PN 1 ! PN I | - 8
- (7] -_I # [ 0/1 ! D | | . ./4 | 0/1 0/1 0/1
“ ”7“ ” q di - g b - #
_p p mf umfu | [ ”» “ 9
T 5:3 ! T 4:3 ! T 4:3 ! —2:3— — 2:3—, —2:34
I — — — — 1 1 I — [ —] U 1 * * * * *
. — - 3
— 1 " a 2 — .
' L ql— q. ql)#
mf’ ———"p mf” [ ——— “mp’ “mp’
] — 23—
1 I - 1 I — 1 o 1
—_—t
L e + : 4
0 — n—= 0 D
7] y 3 O] + i 0] O] O] y 3 y 3 * - ; 3
i PN i i i i PN PN [ & - S

A A——

compose 38.19-1 2013-09-30 23.21.56

10



7

119 ¢=96.0rit... ¢=92.0accel... ¢=101.3 ¢ =101.3rit... h= 72 rit...
2.5 Q o5 §2o 4235 N _
4 IRR 3 —pe— @ f g | 3 | : 3
L\ d - I L S 1 1 &, S i 1 O, IR O I O |Jiu hd ~ — D E—
b/ LJ i/ LJ LJ L L
-2:3 4 ] s | T : 1T | T 1T | —32— —
. e oo @ @ @ @ @ @| 06ee| @ Cadeaide @aad @ aaa @
pos l_l_ )
o [INe=2 g g 3 , : 3 =
404 O AW S - | ®) 1 Z +FB) e — + Z > <
N\ )4 Hq q quv Hul u|-| [
bow ord
pos msp
- | g | 6 , |18 | 3 3 3
N O O O O Z Z Z
h= 69 accel... h=72rit...
129
T ~ i 3:2 RN 1
. ——— 3 ! 3 ! ! ! I =11 =
LI)M 4= 4= . ﬂl-ld-J‘l E =] dl
4 N )
o
bt QO @@ @EE@ @@ @ 0«2 @@ @@ @@ @ | @ 0 @
pos
ono . =) % —15) 3 ) 4 B ) |
z e = =
—32—
bow
pos
e l § l % | | | T | — a

compose 38.19-1 2013-09-30 23.21.56
11




rit...

138
— 32—
. SHERLL. = s - e —
(P) ‘P "mp” ‘mp”<—"“mf"”
] r ] r T r ] — —32— —3:2—
N TP VN s s =P PR T ' YN
pos P . . . ~
pno . — i ' : — 7 ; '
. pae—————————— ” ” ety ra—
p
T 3:2 T 3:2 ! T 3:2 !
bow -
pos ———
o i g | g g N .
vic - - % - — yi— — —
P — “‘mp” ‘mp"mf”
8
o4 J=69 J= 69 rit... J=63 accel...d = 66 rit... dJ=63rit...
— 32—
cl - :'\ p— - p— ;0 |_—|I- I|_—|- f_—Lh —-— - y S - ¢ — % - - ¢ 4 g
'_3:2_| T 1 T 1 1 T 1 T 1 T 1 T 1 T 1 T 1 T 1 T 1 1
btr ] 212 2 ¢ % Z Z tz |2 22 2| 22222 2 z  z ¢z Z %
pos
N [ A [9 ]
pno - pS ¢ S 3
.q D [ .q. .qlp ~ ~ ﬂ ~
— 32—
bow
pos ° c
vic - - - - - 3 - 1 - S = ¢ g
P P ~

compose 38.19-1 2013-09-30 23.21.56
12



cl

btr
pos

pno

bow
pos

vic

cl

btr
pos

pno

bow
pos

vic

4 = 60 accel...

d = 69 rit...

3:2 3:2 . T 3:2
y ] - - y - y ] 3
— | | | i - s o o
bw ' b~ - b— = ' '’ 9w’

Z Z Z Z Z Z Z % ) P - - - =
[y
—r = : 3
,#l ﬂl 1;'. = 'ql ~
= = | — _ _ _ _ 3
L P

P “mp”
9
159 rit... d =63 accel... J= 69 accel... d=72rit...

[y ) — —
= = 1 —3 - - - 3 2 T 5= 1= -
~ d 0/1 :J 0/1 J 0/1 0/1 ~ Iq [ ~ b‘- [ 1\1- [

T 3:2 | T 3:2 T 3:2 T T T — —3:12— — — —3:2— — —3:12—

¢ 2

¢ % ¢

: : - % — . — . - 3 - ' ' %——h-bb'u__ghﬁsb;l_
"——qu’===p. Fq#==q-=:-9'==9. thﬁi hl_lEEhl = q #’h—#ﬁgﬂl F ;
3 3

compose 38.19-1 2013-09-30 23.21.56

13



cl

btr
pos

pno

bow
pos

vic

cl

btr
pos

pno

bow
pos

vic

166

rit...

bl

3:2

M

.'_'I

~e|

P>

e

. va Y

Ei iy

;

—3:12—

Ei vy

=

———Or——Or—1—®
i o o e i -l
((mf"
J=69 d= 69 rit...
174 3:2 ]
— : —_— e
| & y 2 1 [ V] - [ V] Ii [ V] [ 7] i [ V]
- i PN : [ 3 i 104 :1/ [ Ji :1/ [ 5
T / /
f”> “ﬂw
T T 3:2 | 5:4 T 3:2 —_—
— = . m
b #u #u fum - 41 - jm—
¢ * ¢ 3
€ < ~
3:2
) s D \ [9 ) L
- < T ‘m < = § C——
‘mpt ——————— “p’ P — "mp”

14

compose 38.19-1 2013-09-30 23.21.56

M| T




cl

btr
pos

pno

bow
pos

vic

cl

btr
pos

pno

bow
pos

vic

d =72 accel..

rit. J= 63 accel... J = 66 accel... flatter tongue
178 ; 5:4 )
T 3:2 .
: ! 1 f Y > N— ! -
T T v = - T 1Y 8T 45 G5 759  — = =
— < — . ~ (E— am— bm 'qi_ z
‘mp<"f" =7 P = "mp’ ‘mp——"mf"
T ] T 3:2 T 5:4
b4 g T I e s T
R s
S ! 3 - § T =
of) A —— '
T 3:2 ! T 3:2 ! T 3:2
L.——/J
S 1 [9) X o) N i-—
- i & D] - - § 73 : i & % —=& i * P i i
10
acc... J. = 56.0 rit...
183
T 3:2 T 3:2 ! T 4:3
- y 2 A A y A A 9 y 2 A A [ -
2 'y PN 4’. 4. PN 4’. 4. 1 PN |_4’ |4’. ./
A S B — SCR 1 =
" " S
T 3:2 ! T 3:2 ! T 5:3 ! 2:3 T 5:3
= = g * ! * m * E\ * m
- Iq. - y 3 H O] - 9+ - ) o y; y 3 y 3
PN hal Ji T'QI.. [ é e\ | . PN
T —— mp—"mf” ' f"
— g e he —
S t % S

nmf ”

compose 38.19-1 2013-09-30 23.21.56

15




cl

btr
pos

pno

bow
pos

vic

cl

btr
pos

pno

bow
pos

vic

. y ] P—
PN o . L
€ % z .;
]
mf" —— “p
: 5:3 ]
— — — — — — — — I— I— — — — — 1 - - - - I— — — — —
[ f L | [ 7]
p Eh:._ — ﬂ.—+++—ﬂl-. t‘! .—++—#._ L B = = = B = = B B
nmfn umfn
T 4:3 )
| | | C | [ [ — 1 — 1 —| 1
]
. . . . . . . . -— -—
T [ [ 7] [ 7] -
[ [ [
———— ] mf
rit...
: 2:3 : 2:3 : : 2:3 : : 2:3 : ' 4:3 !
- " - y ] y ] - " - \' hd
A PN A PN A PN (7]
Z) n. Z3 ¢. A 7] ‘r. ;4 z 2 7
— sCa— 3 o — E— P d— g
mf umfu>_p “‘p’ umfu “mf,, > &:pu
T 5:3 5:3 . 5:3 ) T 5:3 ) : 2:3 ) T 5:3 )
e
— — : : : : : : — = : : r = e e 2
%. . | . | . . | I . E. . I . - - - %.—
——-— A /] mf’ mf"—"p
T 2:3 !
— 1 —— 1 = 1 - - - - [ - -
L N‘ I'
h-— 4 h.— o W le . . . . . .
— t 0 L —
< - (%] < y 2 % [ 7] V2 - V] < 'm (Y] %.
PN Ji PN PN Ji PN PN PN Ji !

“mf ”

compose 38.19-1 2013-09-30 23.21.56

16




cl

btr
pos

pno

bow
pos

vic

cl

btr
pos

pno

bow
pos

vic

190

rit... J.=53.3
' 4:3 ' 2:3 - 2:3 . . 2:3 L 4:3 . 2:3
> -
~— — — — — — —
s o - . — » 7 $ - i :
. a 0 . . 0 =
. 4 qm " = = o £
“ u< nmfn nmf ”» > l-‘pn p
LLl
J. = 53.3 rit...
193
- 2 - 1? 3
4
4:3 1 5:3 1 . 2:3 1 — 23— — 23— | 2:3 1
. . . . . 6 —T . 12 . . 73 " 19
00— o o— C— O— CO— O ?hil = o P b [
umf”
5:3 1 5:3 1
- - - | | - - | - - - - - - - — I — I T 1 I — I — I — I — 1
= E— E— - — j— j— — j— = = =
- L : : : : L - I e Ty iy — == = =
0 A L [) ]
. ®l > & [ Y] & [ 7] [ Y] & & [ Y] & [ 7] [ ]
X% i i / i i / / / K

compose 38.19-1 2013-09-30 23.21.56

17



cl

btr
pos

pno

bow
pos

vic

cl

btr
pos

pno

bow
pos

vic

J.=50.7 J. =50.7 accel... J.=53.3
196
23 2.2 P 2-3 2:3
- = — : 9 o £:2 —— = 73 O
Z3 4 4 5% 2 K2 G ‘,’. < 4
b . ol 2 S S 2N S S =
“mf"
2:3 " 2:3 !
[0 | i o 0
- - y, — - . — = Z
“mf"
T 5:3
-— m— jm— -— -— -— -— _ #l. — - — .
% i i va i ,'4 - - X
“mf” (lmf”
200 J. = 53.3 rit... J.=50.7rit... J.=48.0accel... J.=53.3 J. = 53.3 accel... J.=56.0
; 3 ; ; i ; ST ;
4
T 4:3 T 2:3 ! T 4:3 ! 2:3 T T 4:3 T 2:3 !
— —-——z :-——-——-——-——I I:‘Il I:".- - I:‘I- Z—Hl. i & ﬁl i
“‘ﬁ‘"
A . - A I I - _h.'

NGO

compose 38.19-1 2013-09-30 23.21.56

18



207

NCT

~

5:3

4:3

]
-—

SNT

NCT

NCT

NCT

5

4:3

5:3

-—

-— - - - - - - -

I3

©

btr

pos

pno

-—

-—

“« ?&n

56.0 rit...

J=

- — A il
| |
<t LIRI !
— ~||| n.l
o e
[qV]
Jag
—-
o ) r Sy =S
A n
n.,o. | |
< 3 .
= ]
i
A 2y}
— i -
umnl 2y |
| |
ul .
R - |
umnl W.I
| |
Ne ) Ne Ny RN
-Lmﬂl il
| |
A 2y}
[Se | ]
4 -
uhl W.-
| |
- L .
AN
o | L, > A il
S 0
N gy
— || H ..ﬁ -
| e
< = [aV] B
INC i
= NCT - -
o
—
N

©

bow

pos

vic

compose 38.19-1 2013-09-30 23.21.56

19



J.=53.3

rit...
213
2:3 5
- y -
cl - 2 = < £3 i
b B
“mf” <
T 2:3 . T 2:3 . T 4:3 . T 4:3 . T 4:3 .
ot i
pos o P ° ° P ° °
pno : - : = 2 = h - ¥ - = : s h C— = QIE?;
umf”
bow
pos
l G %
vie 4 %
J.=53.3 accel... J. = 56.0 rit...
216
cl — - - - b
| &
# /
. . 4:3 " 4:3 _ 4:3 L 4:3 L 2:3 . 4:3 " 4:3 L 2:3 .
btr £ i
pos
pno = = 7 0 0 0 0 0 P 0 = 0 El 0 . - 0 = 0 ﬂ . _-. 0 y 3 0 0 =
bow - —
pos
vic — — 3 —

compose 38.19-1 2013-09-30 23.21.56
20



rit...
219

M
|

"

cl

2
M
A | W

Al

e

[N
1

"
”mwrls

btr

pos

pno

g

1
1
1
1
1
1
1
|

bow

pos

vic

M~

rit...
222

cl

btr
pos

pno

bow
pos

vic

7

s
v

n
n
X
n

M

ol

compose 38.19-1 2013-09-30 23.21.56

21



h=53.3

rit...

224

oo o fo

o\ o\ oL
_ il
(== @v
. r
0 r!v.uu ) = i k
™\ O . O
-
@ Dq algA
T (=
A A
2L e
—-
B Lwnl n i
| |
z o :
| |
™ _.m.._ @ M U 4
o <= =
| | L]
o r
| |
(L I _L..nnu n-.= .
| IBh r
| P o)
I .
© uN n i) B
@
_ . q | n
I ;1 (; N
i '
) «{jl87 i
- LR (0
N Oun__. N
(s 7 i 9|
= '
O | X
T ™ 1
oA @ < (9
[ /- (]
LA (]
I' ;- [ Y
(- e o L
[F ;- (F]
fe e
| -
—LRI h-.L
(= NEN L
b oLhaA g
& °© LA ¢ :
—% —- Nlll h l
RN LA e
k - 0 .
: e ,
™) __ \O n_.w — N — h r—m
N O
—- NI h -
k I 0y .
1 o - =
[F ;- (]
LA £
[F ;- (]
AT = -
sy ¢
[, (] -
= =
Nl ilh G :
o\ o\ o\
urr ur d /]
19 i 1o B2 O
i
© 58 =l A o
58 S 3 S >

S —

o fo

o fo

11
h

72 rit...

53.3rit...

h=

L (0
. In
B pum
—_ I Al
L (-
N (@' @'\
".__mJ ﬁ
pas o — LA ", JOW
== ﬁ == -
i il
@ T
—@,- A L & gl
. T
en (= L <
C (¢ C
".__mJ o
s
i
g N ﬁ @ Sl
N ¥ : o
N i W (-
-1y _ 1]
N = s
S gmu & ils o
i
L (NI L o .
™ - T_v i ©
N e 2 [ i
— O
® :
N N N
© .
(- @wu )
o o
N —- i .
il I .
(e .._,W ) i
0
o A (5
_umw (D
- G
@
17 el
& I bo) .
«H i ¢ -
1
pul A |
o @ o]
1n/_. S

Po Po

compose 38.19-1 2013-09-30 23.21.56

22



cl

btr
pos

pno

bow
pos

vic

cl

btr
pos

pno

bow
pos

vic

h= 69 rit...

i
: [7= 1Y [7= 1Y 113 i 113 il ) 113 il ) 113 il ) 1 il ) 1\ 7= 1Y | I [7= 1Y 113
(5 198 ENSN I E 5 S L | N | N § 19 L SLEN & 9 BN SN & 9 B A A
0[83 [i] [o] [i] [o] [i] [o] [i] [o] [i] [o] [i] [o] [i] [o] [i] [o]
[ |1 11 11 [ 1] [1] |11 11
q -
| 1
1 |
’i\ I'{-\l a? ’i\ Ir{ ¥ T _’!\_—"Ea—[\? T n n n n
h= 66 accel... h= 69 accel... h= 72 rit...
- "\ n ; 1] g " ’I\
rl\ N iA\ | IR id)&" I &~ &~ :IE% L] ;\I i- E-:li- I-\l
. . 0 [i] [o] [i] [o]
0 [o] [l [o] oF o O|l:‘ 5
h I 1 1
o @@ @ @@ @ l
= [} — N = [ |
’i\ 53] ,i\ " %—a-l‘ﬁ) % ’i\ T " "
P o o o o o
| | | |
[ [1] 11 11 %’i\ _:I. é g |11 [ 1] |1 T ,I\ -} r{'
y A 4=
o o o o——

compose 38.19-1 2013-09-30 23.21.56

23



63 accel...

J:

66 rit...

J:

69 rit...
3.2

J:

rit...

249

(9 )

3
~

3:2

=
==
[o]

S i | ——

umf ”

“_
— p

—32——

T
[l

T )
pEEEE

umf ”

3:2

R

|
2
[o]

S [ |
] |
o M..J ~d
i~ |
A _
_ bl
| H [
o _Hu-uu
™
- f N
g .
i o~
o
L [
— S
[
S
L
fou Cw
i~ NS
i~ i A\ §
L[] ] L W\
IO W
A L W\
[ = W
uns
. L
T NE A R
EUE i~
W =
[l.]
| [e] ] [
wlO
[l.]
=
e T 3
< o E

btr
pos

pno

12
J

bow
pos
vic

69 rit...

J:

66 accel...

J:

63 accel...

J:

66 rit...

259

[o]

(il

[o]

A~

[i]

[o]

[i]

[o]

[i]

3:2

cl

vic

compose 38.19-1 2013-09-30 23.21.56

24



66 rit...

h=

rit...

266

btr
pos

| (= |
(==
N N N
© I
©) )
1 @p | -
ﬁ@ -
®
© A
J o\
"__m," &)
I®
o _ ©
I®
s Sl a
i L
#mm_u =
(=t
n d o
- |
[m)
r.mhhlﬁ_
oy —
L o
b !
r-w.ﬂlilm
oy —
B o
I |
r-wulm
[(m)
o
paq 1
r-w.—.l.-lm
o —
r.—.H-I.m_
o |
r-w.q m
o1 - \&\ T 2o

pno
bow

pos
vic

14
h

13
h

h=66

60 accel...

66 rit...

h=

63 accel...

h=

60 accel...

63 rit...

h=

275

(&

)

(=
—\ - -
AI
- < (=
(e .
£0 H
~| R
) e @ Au.
L I N
®
(- H
g [T =
(=
H &y =
[l A
QAN Q) Q')
AI
H 0¥ = .
o | OfeY

P

compose 38.19-1 2013-09-30 23.21.56

25



